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F, c0s10—-F, cos30=0
>F,=0=>F, +F, -100=0=
F,sin10+ F,sin30-100=0




F, c0s10—-F,cos30=0= F,(0.98)-F,(0.8) =0

F sin10+F,sin30-100=0= F,(0.17) + F,(0.5) =100

F(0.98)=F,(0.8) = F, =F, (%) — F, =0.81F,

(0.81F,)(0.17) + F, (0.5) =100 = 0.1377F, + F, (0.5) =100

— 0.6377F, =100 = F, = 0100 =156.8N

6377

F, =0.81F, = F, =(0.81)(156.8) =12/N
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F, cos60—-F,cos60=0
»F, =0=>F, +F,, -30=0=
F,sin60+F,sin60—-30=0




F,cos60—-F,cos60=0=F =F,

F, sin60+F, sin60=30= F,(0.8) + F,(0.8) = 30 =

F+F, :%: F+F, =375

F+F =35> F+F =3/5=2F =3/5=

F =312 _18.75N = F, =18.75N
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M =rF
= (2)(100)
= 200N .m
Cudo g 3,Se s

M =rF
=(0)(50) =0

.w‘)io)aw 6&15 )3.?.9 Q‘)BQ )3—7‘—0 )“ 9).;-; Q‘M‘ ;‘SQA{)




M =rF
= (4)(200)
=800N .m
Casto 9 3,50l

M =rF
=(2)(200)
= 400N .m
Cuto 93, Suebu
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‘F, = F cosé=100co0s60 =100(0.5) = 50N
F, = F sin @ =100sin 60 =100(0.8) = 80N

(M, =1F, =(0)(50)=0
3
M, =rF, =(2)(80) =160N .m

\

M =M, +M_  =160N .m




